# Another definition of a group by means of a single axiom 

by José Morgado

Instituto de Fisica e Matemática, Universidade Federal de Pernambuco, Brasil

## Introduction

In [1], Michael Slater characterizes a group by means of a single axiom of the form $p$ implies $q, p$ and $q$ being equations, in terms of two operations : a binary operation . (multiplication) and a unary operation ' (inversion). He proves that the system $\left\langle G, \cdot,,^{\prime}\right\rangle$ is a group, if and only if

$$
a b \cdot c=a d \cdot e \text { implies } b=d \cdot e c^{\prime} .
$$

In [2], p. 6, Marshall Hall gives a definition of a group in terms of one of the inverse operations of the multiplication by using four axioms.

In [3], it is observed that these axioms are not independent and one defines a group in terms of the same operation by using two axioms.

In [4], one obtains a definition of a group in terms of the same operation by means of one axiom of the form $p$ implies $q$, where $p$ and $q$ are equations. It is shown that, if the groupoid $<G, \cdot>$ satisfies the condition

$$
\begin{gathered}
a(b b \cdot b) \cdot(c c \cdot c)=a(d d \cdot d) \cdot(e e \cdot e) \\
\text { implies } b=d \cdot c e,
\end{gathered}
$$

then, if one defines the operation $\odot$ in $G$ by the condition

$$
a \odot b=a(b b \cdot b),
$$

the groupoid $<G, \odot>$ is a group.

The purpose of this note is to characte. rize a group by means of one universal axiom, written in terms of one binary operation (one of the inverse operations of the multiplication).

This problem was solved for the abelian groups by Marlow Sholander in [5]. He stated that, if the groupoid $\langle G,->$ satisfies the condition
$y=x-[(x-z)-(y-z)]$ for all $x, y, z$ in $G$,
then the groupoid $<G,+>$, where $x+y=x-[(y-y)-y]$, is an abelian group.
§ 1. We are going to state the following
Theorem: Let $<G, \cdot>$ be a groupoid satisfying the following condition:
(C) $\mathrm{a}=\mathrm{b}\{[(\mathrm{d} \cdot \mathrm{d} \cdot \mathrm{a}) \mathrm{c}][(\mathrm{dd} \cdot \mathrm{b}) \mathrm{c}]\}$ for all

$$
\mathrm{a}, \mathrm{~b}, \mathrm{c}, \mathrm{~d} \text { in } \mathrm{G} .
$$

Then, if one defines the binary operation $\odot$ in $G$ by the condition

$$
\mathrm{a} \odot \mathrm{~b}=\mathrm{a}(\mathrm{~b} \mathrm{~b} \cdot \mathrm{~b}) \text { for all } \mathrm{a}, \mathrm{~b} \text { in } \mathrm{G}
$$

the groupoid $<\mathrm{G}, \odot>$ is a group.

Proof: One has clearly
(1) $a=a\{[(d d \cdot a) c][(d d \cdot a) c]\}$ for all

$$
a, c, d \text { in } G .
$$

Let us set

$$
c=[(d d \cdot b) b][(d d)(d d \cdot a)] b .
$$

Since, by condition (C), one has

$$
\begin{gathered}
(d d \cdot a) c=(d d \cdot a)(\{[(d d \cdot b) b] . \\
\cdot[(d d)(d d \cdot a)] b\})=b,
\end{gathered}
$$

it follows from (1) that
(2) $\quad a=a \cdot b b$ for all $a, b$ in $G$.

Then, by putting $c=e e$ in (C), one obtains

$$
a=b\{[(d d \cdot a)(e e)][(d d \cdot b)(e e)]\}
$$

"and hence, by (2), one has $a=b[(d d \cdot a)(d d \cdot b)]$ for all $a, b, d$ in $G$.

Consequently,

$$
a a=(b b)[(d d \cdot a a)(d d \cdot b b)] .
$$

From here and (2), it follows

$$
\begin{gathered}
a a=(b b)[(d d)(d d)]=(b b)(d d)=b b \\
\text { for all } a, b, d \text { in } G .
\end{gathered}
$$

This means that the element $b b$ does not depend on $b$.

Let us set $i=b b$; then one has
(3) $a=a i$ for every $a \in G$,
that is to say, $i$ is a right identity for the grupoid $\langle G, \cdot\rangle$.

Thus, the condition (C) may be written
(C') $\quad a=b[(i a \cdot c)(i b \cdot c)]$ for all

$$
a, b, c \text { in } G .
$$

By setting $b=c=i$ in ( $C^{\prime}$ ), one obtains

$$
a=i[(i a \cdot i)(i i \cdot \imath)]
$$

and hence, by (3),
(4) $\quad a=i \cdot i a$ for every $a \in G$.

From ( $C^{\prime}$ ) and (4), it results
(5) $i a=(i b)(a c \cdot b c)$ for all $a, b, c$ in $G$
and, by setting $c=b$, one obtains
(6) $\quad i a=i b \cdot a b$ for all $a, b$ in $G$.

From (5) it follows, by taking $b=i$,

$$
i a=(i i)(a c \cdot i c)=i(a c \cdot i c)
$$

and hence, by (4),
(7) $\quad a=a c \cdot i c$ for all $a, c$ in $G$.

Let us see that one has
(8) $\quad i \cdot a b=b a$ for all $a, b$ in $G$.

In fact, by (7), (4) and (6), one has
$b a=b(a b \cdot i b)=(i \cdot i b)(a b \cdot i b)=i \cdot a b$.

Then, from (4), (5) and (8), one concludes $a=i \cdot i a=i[(i b)(a c \cdot b c)]=(a c \cdot b c)(i b)$ and consequently

$$
\begin{aligned}
& a b=[(a c \cdot b c)(i b)] b= \\
& =[(a c \cdot b c)(i b)](i \cdot i b)
\end{aligned}
$$

Hence, by (7) and (3), one gets
(9) $a b=a c \cdot b c$ for all $a, b, c$ in $G$
and this result contains, as particular cases, the results (6), (7) and (8).

Now, we are going to state that the groupoid $<G, \odot>$ is a group.

We may write $a \odot b=a(b b \cdot b)=a \cdot i b$
a) One has clearly
$a \odot i=a \cdot i i=a i=a$ for every $a \in G$,
that is to say, the element $i$ is a right identity for the groupoid $<G,{ }^{\circ} \gg$.
b) Furthermore, one has
$a \odot(i a)=a(i \cdot i a)=a a=i$ for every $a \in G$, meaning that, in the groupoid $\langle G, \odot\rangle$, for each element $a$, there is a right inverse element $i a$.
c) Finally, from (8) and (9), one concludes that

$$
\begin{gathered}
a \odot(b \odot c)=a \cdot i(b \cdot i c)=a(i c \cdot b)= \\
=(a \cdot i b)[(i c \cdot b)(i b)]=(a \cdot i b)(i c \cdot i)= \\
=(a \cdot i b)(i c)=(a \odot b) \odot c
\end{gathered}
$$

proving that the operation $\odot$ is associative.
Consequently, the groupoid $\langle G, \odot>$ is
a group, as it was claimed.
§ 2. Now, let us suppose that the groupoid $<G, \odot>$ is a group and let us define the binary operation . in $G$, by the condition

$$
a \cdot b=a \odot b^{-1} \text { for all } a, b \text { in } G
$$

$b^{-1}$ being the inverse of $b$ in the group $<G, \odot>$.

Then, one has obviously

$$
a \odot b=a(b b \cdot b) \text { for all } a, b \text { in } G
$$

since $b \cdot b(=b b)$ is the identity element of the group $<G, \odot>$.

One sees that

$$
\begin{gathered}
b\{[(d d \cdot a) c][(d d \cdot b) c]\}= \\
=b \odot\left[\left(a^{-1} \odot c^{-1}\right) \odot\left(b^{-1} \odot c^{-1}\right)^{-1}\right]^{-1}= \\
=b \odot\left[\left(a^{-1} \odot c^{-1}\right) \odot(c \odot b)\right]^{-1}= \\
=b \odot\left(a^{-1} \odot b\right)^{-1}=a,
\end{gathered}
$$

for all $a, b, c, d$ in $G$.
This means that the group axioms imply the single axiom above for one of the inverse operations of the operation of the group. On the other hand, we have proved that this axiom implies the group axioms.

Consequently, the single axiom above may be used in order to define a group.

## BIBLIOGRAPHY

[1] Slater, Miohael, A single postulate for groupe, Amer. Math. Monthly, 68, 346-347 (1961).
[2] Hall Ji., Marshall, The Theory of Groups, Macmillan, New York, 1959.
[3] Morgado, José, Nota sobre quasigrupos subtractivos, Gaz. Mat. (Lisboa), 92-93, 11-17 (1963).
[4] , A single axiom for groups, Amer. Math. Monthly, 72, 981-982 (1965).
[5] Sholander, Marlow, Postulates for commutative groups, Amer. Math. Monthly, 66, 93.95 (1959).

